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-] BRBREFRL—4— 1 x 4= 4 x 32000 = 128000
& 5 B |BWA 3 x 4= 12 x 15000 = 180000
_,j_ H
&
H
B, BEE 1 x = 4.0 x 35000 = 140000
ARE 1 x = 4.0 x 120000 = 480000
I EF 1390000
F—HBE BEWHE 1 x 1.5 = 1.5 x 25900 = 38850
SHEER B SR 1 x 3 = 3.0 x 36900 = 110700
BISEE (E5) Ek A=A 1 x 6 = 6.0 x 36900 = 221400
b BB 1 x 3 = 3.0 x 47100 = 141300
n %
N 512250
it 1902250




Case—4-2 hIEER, 140 x 3%R BE: BE BT ARECUN
Level-1
HEAHK £ 7 B A
BLE BE 1.5 = MR A (UIEHE) 47100
5 BE i =] AIRE CUB KR 36900
£ BT AR 1 A AEHHE 25900
UAV 3 =]
T2 BE A 1.5 5] AREARL—2— 32000
HEER 3 = REBA 15000
BISE (15) R 6 = WEH, B 35000
BE 3 B ARE 120000
SEHYYHL 3 A
# UAVIB 5+ 50000
UAVIR#ttH 40000
VAVt & BIEE 45000
UAVHEAT B 80000
BAEH
miRE GRl=HEm) X 1.5 = 1.5 X 47100 = 70650
BB amaamsm x 15 = 15 x 36900 = 55350
miRE GRl=HEm) X 1 = 1.0 X 47100 = 47100
AR A GllEHEmsE) X 1 = 1.0 X 36900 = 36900
UAViZ#t+ X 3 = 3.0 X 50000 = 150000
2] UAVIE St #81E 1 x 3= 3 X 40000 = 120000
;’3? = UAVigfit =& EEE x 3 = 3.0 X 45000 = 135000
i e
T & BAREARL—4— 1 x 1= 1 X 32000 = 32000
A O|REE 3 x 1= 3 X 15000 = 45000
HHIH. BEl X 1 = 1.0 X 35000 = 35000
mRE X 1 = 1.0 X 120000 = 120000
UAVHE# & 1 x 3= 3 X 80000 = 240000
NE 1087000
F—45 %3 BAEHEEE b 1.5 = 1.5 X 25900 = 38850
SRAEERL Ptk X 3 = 3.0 X 36900 = 110700
BISE (5) R ABREE x 6 = 6.0 x 36000 = 221400
BE A= HEEm X 3 = 3.0 X 47100 = 141300
N % BEYIYHL B = B EmeE X 3 = 3.0 X 36900 = 110700
INE 622950
& it 1709950




Case-4-3 IR, 1<40 %33R BE: BE BT LAV
Level-1
HEAH B BT
B BE 1.5 = AARE (HIERE) 47100
7 BE 1 A AARE (HE R 36900
S BT AR 0 A AERmHE 25900
UAV 3 =]
F—4 38 (UAV) 1.5 =] HREARL—4 — 32000
HEHR 3 =) 1R BA 15000
BIEE (E5) %R 6 =] HEH. EEH 35000
BE 3 =) MRRE 120000
BEYYHL 3 =]
# UNVR i 50000
UAVi#t 4 1% 40000
VAVt R & EBE 45000
UAVHE#+ 2 80000
BREH
miRE GRl=HEm) X 1.5 = 1.5 X 47100 = 70650
é g mRE GRlEHEm+H) X 1.5 = 1.5 X 36900 = 55350
mRE GRl=HEm) X 1 = 1.0 X 47100 = 47100
RRE GRl=HEm+H) X 1 = 1.0 X 36900 = 36900
UAVigHit = X 3 = 3.0 X 50000 = 150000
2] UAVIESit#s1E 1 x 3= 40000 = 120000
f’z‘ = UAVigfft R & EEE X 3 = 3.0 X 45000 = 135000
i e
T & BAREARL—4— 1 x = 32000 = 0
A O|REE 3 x = 15000 = 0
HHIH. BEl X = 0.0 X 35000 = 0
mRE X = 0.0 X 120000 = 0
UAVHE# & 1 x 3= 80000 = 240000
N 855000
FT—A R BIEMEE X 1.5 = 1.5 X 25900 = 38850
SRAEERL BIEFENH X 3 = 3.0 X 36900 = 110700
BIER (E5) R BIEHEE x 6 = 6.0 x 36900 = 221400
mE BIEHREm X 3 = 3.0 X 47100 = 141300
N % BEYIYHL B EFENE X 3 = 3.0 X 36900 = 110700
IhE 622950
it 1477950




